N & 0l & At

o
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Al A

= o
20228 &= 20A SHEXA XNGAXNIAEN SESH &AM
SN EAR Y
M B HMHIA ZHA L35
el AT WX Y 2ES(SEXNRE XLXAEA )
x 5 - 4
SN BA(SA) - MRAY - BES 0l &t o e 2
Fa SRS n 50,000 50,000
232= HMUlA 3 235 50,000 50,000
ATHA UK WY 2ES(SEENE XNIXNJAEN S 50,000 50,000
3l AH)
SFOZR LED =¥ S WM A 50,000 50,000
403 MHXSHHSA=0l& 50,000 50,000
02 S 2S0CHet A = H 2 & AL H 50,000 50,000
OZ3F2=d LD 2ES WHA 50,000,000 50,000




N = 0l & At & Ml A

20224 20la SHXE KNEATANEM SEIH HA

A0l X

M UXEE 2 ATHMEUHUX 25
ESel diuXoleEgels ¥ FHELEUS(SENE XNANIALAN SL3IH) (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Ofl LA X1 2 12,053,791 11,706,050 347,741
2 1,794,532
< 10,259,259
HUXEE 2 ATHEAEX E2 9,759,291 8,925,530 833,761
= 974,532
< 8,784,759
duxolggels & AL US(SENA NS 1,920,864 847,740 1,073,124
ANEM EE353H)
2 577,500
< 1,343,364
X 2 HR =8 58,230 64,700 N6,470
201 24l 58,230 64,700 A6,470
01 At 2t 2l 58,230 64,700 N6,470
OUUHXIZEH SHAHRFH 16,200,000 16,200
OkL= st2 A H HEHER A
11,250,000 11,250
OuXI?&z 29 26,730,000 26,730
OfUHXEH & MHMNUHX 82, WS
4,050,000 4,050
X1 0fl LA X H 2 4 & K| 2 25,000 50,000 A25,000
=2 500
< 24,500
201 Let24dH] 1,000 2,000 A 1,000
=2 500
< 500
01 At 22l 1,000 2,000 A 1,000
OXNYGHUHXNASE=H NS 1,000,000 1,000
= 500
< 500
308 XXM SO0l A 24,000 48,000 A24,000
01 IXNHHBNEES 24,000 48,000 A 24,000
OAZ XNGUHUHXIAHE=E XA 24,000,000 24,000
WUHXIES - DS -2 50,400 62,000 A 11,600
201 Let2d] 28,800 38,000 A 9,200
01 At 22l 28,800 38,000 A9,200
ONUXEEZSRE AEN=S 5,400,000 5,400
OfUHXZE e & g8 12,600,000 12,600
OXMO X eld &4 10,800, 000 10,800
202 o4l 1,800 2,000 2200
01 = LH 4 Hi 1,800 2,000 A 200
OXNguUHX SRFH 1,800,000 1,800
308 XX EHHSOIA 19,800 22,000 A2,200




A0l X2t
M UXEE 2 ATHMEUHUX 25
ESel diuXoleEgels ¥ FHELEUS(SENE XNANIALAN SL3IH) (Sl & &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
113/ 2SoHUHSZ&EAEALS I 19,800 22,000 A2,200
OE&EINUHXIZelE =Ootet 19,800, 000 19,800
KNSR E A 279,200 357,000 ATT7,800
= 279,200
403 MtXISHHE X201 E 279,200 357,000 ATT7,800
= 279,200
01 XM A=2EE 279,200 357,000 AT7,800
OXSNUHXEAAL (E2HA) 279,200,000 279,200
= 279,200
FHAAS MHX=X 352,034 164,040 187,994
= 297,800
< 54,234
403 A X EHHS 20l A 352,034 164,040 187,994
= 297,800
< 54,234
01 X EHHMA=LE L 352,034 164,040 187,994
OFAHSZ ol X =XI(LED) 352,034,000 352,034
= 297,800
< 54,234
StALHE FHXYG SZMA ALE,ZAH, ARS 1,156,000 0 1,156,000
403 X SHHSA=0l& 1,156,000 0 1,156,000
01 XM A2E X 1,156,000 0 1,156,000
Ostagd FHIA &F N, ZAHAF
1,156,000, 000 1,156,000
EY HUXMH 28 & 22 (SEXNE NS AE 1,500,000 1,200,000 300,000
N E23)
S UXHdH £ 2 29 1,500,000 1,200,000 300,000
306 £ = 1,500,000 1,200,000 300,000
01 &3 1,500,000 1,200,000 300,000
O=sdlUXNdH 29 1,500,000, 000 1,500,000
ATHEUUEX HY ES(SEXNY NARFAEAM S 6,338,427 6,877,790 A 539,363
31
= 397,032
< 5,941,395
ATHHAUX 2SS (I IHEETER) 4,300,000 4,389,600 A 89,600
403 MHXSHHSA=0l& 4,300,000 4,389,600 A 89,600
01 X SHMA2E X 4,300,000 4,389,600 A 89,600
OWUXY S8 % PA=E MY
4,300, 000,000 4,300,000
ATHEAUX s8R (%) 72,000 72,000 0
403 A X EHH S 20l A 72,000 72,000 0
01 X ESHHMA=2LE L 72,000 72,000 0




R TEpN
Ha: UXNE L AHMNLK 23

el AIHMAUX WY ES(SENE XNIANJAEHM SE3AH) (=& J)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OFe=58 WUXl Xteote =4
72,000,000 72,000
ATHMHHX AS XA (SRS XA) 113,400 129,600 A 16,200
403 UHXSHHSA=0l& 113,400 129,600 A 16,200
01 X ESHMA=LE L 113,400 129,600 A 16,200
OltSsl& EHYZ NAASG (g L H=ED])
113,400,000 113,400
ATHHA UK =X (2 HE ) 691,891 692,926 A 1,085
403 A X EHHS =0l A 691,891 692,926 A 1,035
01 X SHMA2E X 691,891 692,926 21,035
OJfel==8el o Ch=me ATHMUUX 5
691,891,000 691,891
NEXN2 (=) 98,480 718,425 A 619,945
= 49,240
< 49,240
401 A& BIZ 201 8I 98,480 718,425 A 619,945
= 49,240
< 49,240
01 Al& Hl 97,680 718,425 A 620,745
O Mg 2 ASD|28 AT X EX
97,680,000 97,680
= 48,840
< 48,840
03 Al =2 THHI 800 0 800
O AtgA & )2 AW X &X
800,000 800
= 400
< 400
NEX2 (A=ZE 4 347,792 342,175 5,617
= 347,792
403 XIS E X201 & 347,792 342,175 5,617
= 347,792
01 X SHHN2E = 347,792 342,175 5,617
OANZ 33012 L AS=SIAIE AKX
&l X 347,792,000 347,792
= 347,792
M3 EXAIE BHSZ AX 210,064 389, 064 A 179,000
403 MtXISHHE X201 & 210,064 389,064 A 179,000
01 AXSHMA=2EE 210,064 389,064 A 179,000
OZ2Y EBHEE XA 210,064,000 210,064
Foo FEE OIS2dL EXXNE AY 64,800 144,000 AT79,200
403 XSS X201 & 64,800 144,000 AT79,200
01 X SHMA2E X 64,800 144,000 279,200




R TEpN
Ha: UXNE L AHMNLK 23

el AIHMAUX WY ES(SENE XNIANJAEHM SE3AH) (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O=0x9 HEE 0ts2LAL XX
64,800,000 64,800
CHEHRl AITHAE 0 X &K X 440,000 0 440,000
403 UHXSHHSA=0l& 440,000 0 440,000
01 X ESHMA=LE L 440,000 0 440,000
O=gd, B oa3s8 X =d X
440,000, 000 440,000
HuUXaasd & G2 2,264,500 2,670,000 A 405,500
= 820,000
< 1,444,500
HUX X2 (SENE NATVAEHM SE3H) 2,264,500 2,670,000 A 405,500
= 820,000
< 1,444,500
(NS N R ) Rl S 24,500 30,000 A5,500
201 YEt2 Ayl 2,500 5,000 £2,500
01 At 22l 2,500 5,000 A 2,500
O0UXl =52lgt =4 2,500,000 2,500
207 & 100 &l 22,000 25,000 A 3,000
01 2284 22,000 25,000 A 3,000
OZAJIA BSHE M4EAR 22,000,000 22,000
LPGE Il AFEJt3 Al XI& At 220,000 0 220,000
= 220,000
403 UtXISHH S =0l & 220,000 0 220,000
= 220,000
01 HXSHMA=2E X 220,000 0 220,000
OLPGE Il MEIt7 A& 220,000, 000 220,000
= 220,000
SOHE OlS©9 LPGASEMEY I 880,000 1,650,000 A770,000
403 XIS E X201 & 880,000 1,650,000 A770,000
01 XM A=2EE 880,000 1,650,000 A770,000
OLPG 28 MEHI B 880,000, 000 880,000
SOHE ISt N3 (%) 600,000 450,000 150,000
= 600,000
403 A X EHHSH=0IA 600,000 450,000 150,000
= 600,000
01 X EHHMA=LE L 600,000 450,000 150,000
OLPG A MEHIT &X 600,000, 000 600,000
= 600,000
SADJIA BZAIE EXdl X3 540,000 540,000 0
403 X SHHSA=0l& 540,000 540,000 0
01 HXSHMA2E X 540,000 540,000 0




A0l X
A duXagsd & T 2el

¢l MUX HZel(SEXE NARBALH SE3AH) (&)
x 5 - 4
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
-/

OZAIJtA DIZ2=XSF 22 X

0

540,000,000 540,000
ol gl gl 30,000 520 29,480
OHEN(SEXE NSX2ALEHM SE3AH) 30,000 520 29,480
ol g1yl 30,000 520 29,480
801 Ol HIHI 30,000 520 29,480
01 & etoldlbl 30,000 520 29,480
Ooaolglgl 30,000,000 30,000




N & 0l & At
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20228 &= 20A SHEXA XNGAXNIAEN SESH &AM
L HSIELEE-E
Mo J|SHE UEX
Gel: JIFEZHS ZAH, BIt, 23, EE(SENE NANSAEN SE3H) (&)
= SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
Jl=stZ ¥ M 2,475,400 3,102,950 A 627,550
= 1,753,500
< 651,900
£ 70,000
Jl2HS HHFA 2,330,400 2,957,950 A 627,550
= 1,753,500
< 576,900
JIZEZHSE A, B, 232, S2(SENE NG 2,330,400 2,957,950 A 627,550
HAIEAN SE35H)
= 1,753,500
= 576,900
S3FE S4ItA WX SE22HM X 50,850 50,850 0
308 XXM S0 A 50,850 50,850 0
01 HIXNHHNBMNEES 50,850 50,850 0
OZ33FE2 22JtA X SE2elM X
50,850,000 50,850
BII=ANE BASEEZZOH 2,279,550 1,907,100 372,450
= 1,753,500
< 526,050
403 MHXSHHSA=0l& 2,279,550 1,907,100 372,450
= 1,753,500
< 526,050
01 XM A=E X 2,279,550 1,907,100 372,450
OFIEZANE BASEEZOHY
2,279,550,000 2,279,550
= 1,753,500
= 526,050
X da & MAHMENEK B3 145,000 145,000 0
< 75,000
g 70,000
sMAdHE SH(STNA NSNAALEHN SE3H) 145,000 145,000 0
< 75,000
g 70,000
Y ASIisLdZy 29 45,000 45,000 0
307 21201 A 45,000 45,000 0
02 QItFAAHE X 45,000 45,000 0
OsY NBltsLdEd 29 45,000,000 45,000
JI=R0| etallts =24 100,000 100,000 0
< 30,000
£ 70,000
307 glz2tol & 100,000 100,000 0
< 30,000
£ 70,000
02 It MAHE L 100,000 100,000 0




(BA) - N2EAY - BES Off &t 24

100,000,000 100,000
= 30,000
£ 70,000

=

i
2m




N & 0l & At

20228 E E0A SHNE NAKBALA S5 &
2M: Z2as0IED
=R
Sl BEIM X (SHNY NATVAALHN SHH)

o o Al

=H o

A

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
T EotsJ = 197,000 755,000 558,000
ZESIFHIE 197,000 560,000 363,000
SN FT(SHEUE XNGTSAIEN SE3IAH) 197,000 560,000 A 363,000
AUSIE HEAY 197,000 260,000 A 63,000
307 glz2+ol & 197,000 260,000 A 63,000
02 HAHFHAANGFEX 197,000 260,000 263,000
OMEgagdLs =HISY ot I 3I/&EE
2= 80,000, 000 80,000
OMEIstHSFA ZHASY AUBIE 55 -
22| 117,000, 000 117,000




N = 0l & At & Ml A

20224 20la SHXE KNEATANEM SEIH HA

A SFoA 2B
t

g HYI=9 ¢EA Ml & 22
Sl HOI2S OFE Mol ¥ (SN NANVALN SEEH) (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
SZ ot Zel 1t 910,000 0 910,000
= 700,000
< 210,000
HIOI22 ¢HEA HMel ¥ 22l 910,000 0 910,000
= 700,000
< 210,000
Hol29 &N Mel & 2el(SEXNE XNEHAAL 910,000 0 910,000
N SE3I)
= 700,000
= 210,000
E3NUXER2 =4 910,000 0 910,000
= 700,000
< 210,000
403 XSS =0l & 910,000 0 910,000
= 700,000
< 210,000
01 XM A=2E X 910,000 0 910,000
OoZezduuUXE2 =4 910,000, 000 910,000
= 700,000
= 210,000




= o
A & 0l & AF 2 E A A
20228 &= 20A SHEXA XNGAXNIAEN SESH &AM
N 223
M LIBH W B2
SRl M4E U Xota HR(STHUR NATRALH SE3H) CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Sl M 455,700 350,000 105,700
SASHE A 22l 455,700 350,000 105,700
a2 Xt 22 (SENY NARFAEMN S 455,700 350,000 105,700
3
S3Xote Hl&adsS+= HEAY 394,000 350,000 44,000
403 MHXSHHSA=0l& 394,000 350,000 44,000
01 RXISHAE 2 X 285,000 250,000 35,000
O3S o= H&S== HEAS
285,000,000 285,000
02 S 2S0CHet A = H 2 & AL H 109,000 100,000 9,000
O23Xdt= Ha3 WA (EA S)
109,000, 000& 109,000
=& A X3 56,700 0 56,700
308 MXIEHSOIH 56,700 0 56,700
01 HXNHHNBHEELS 56,700 0 56,700
O4Z ZINAW SSXot4 2BAA N
56,700,000 56,700
Kot EH &2 5,000 0 5,000
301 LA F 5,000 0 5,000
12JIE243 5,000 0 5,000
OXlot &X3 MDZLH 2 5,000,000 5,000




—— A
N = 0] &F AF S & AN A
2022 T 20AM ETLNY NGAXNIAAEN ESHSFH HA
SN BASZARE
Ha: 2ABYARASY
Sl SRTMA XY BARHT TASHUE NARANLA SBIH) (S &2)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
HAHEHARA 600,000 1,050,000 A 450,000
BASHAIRIYARAH 600,000 1,050,000 A 450,000
StAYUMA XY SHALAGT ZAHEAKNE XEXE A 600,000 1,050,000 A 450,000
AN EE3AH)
StEgNMA XY SHLEZ XA HHI2= 350,000 1,020,000 A 670,000
405 XHA&HF S HI 350,000 1,020,000 A 670,000
01 XA 2 ZF S| 350,000 1,020,000 A 670,000
OzteaedA FH SHHQLATZ XA HHIZ2S
350,000,000 350,000
StEEUNMA STANZ SHIASEIAN dP22A 250,000 30,000 220,000
207 A O 4| 250,000 30,000 220,000
01 24| 250,000 30,000 220,000
Os2YHAL SHHR BHASTA
250,000,000 250,000




